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Topic:- General Knowledge and Logical Knowledge

1) Who is popularly referred to as ‘The Lion of Punjab’? / QR-T-YeITe F ¥U H DA dbiy 72
1. Bal Gangadhar Tilak / STCITIER faea®

2. Jayaprakash Narayan / STOUD IR ARTIUT

3. Jawaharlal Nehru / STATERATd 18®

4. Lala Lajpat Rai / €ITeIT SITSTUd XY

Correct Answer :-

 Lala Lajpat Rai / STl ATSIUd XTI

2) Who is the Union Minister for External Affairs? / ﬁ%ﬂ m & #Sﬂ'q =t ﬁq %.?
1. Smriti Irani / Wﬁ[ g‘ﬂ:ﬁ

2. Sushma Swaraj / FEHT TGRS

3. Radha Mohan Singh / 14T Al &g

4. Harsimrat Kaur Badal / EQﬁ:I'EIH ﬁ? dicd

Correct Answer :-

 Sushma Swaraj / JYHT TS

3) Six officers have offices in a row. B has F and D as neighbors; E has A and C as neighbors; A does not have his
office next to either F or D; C does not have his office next to D. Who among the officers have offices next to F? / U
UfeRT § o8 PTGl & AMMPI S I BF FAR D USRI T, EP A MR CUSN E; A BT ATPI TR FF THAT DS
U &; C 1 AT p & U 181 81 T iRl &1 oiifth F & URT 82

1.C,D
2.A,B
3.D,E

4.B,C

Correct Answer :-



TFJ LAUYY 1ALy dTALD UIU UIT UTUULALIL AL FAAUIIIL 1 ALl dDULULT 111 LT 4UL/ JLAlT CICLUUILD 111 L UlLjal: / 4UL/ ~1 71V~ ~1

§U e yT gl o e SrreHt urdf A farat i wrw ate
1.24
2.23
3.20

4. 19

Correct Answer :-
« 20

5) How many numbers greater than 50,000 can be formed with digits 4, 0, 6, 5, and 1? / 3P 4,0,6,5 AMR1F Y
50,000 & 3rf¥re et T o1 fAmtor favar < gwar 82

1. 48
2.24
3.36

4. 60

Correct Answer :-

o 48

6) Which state is home to the largest cave temple, ‘Kailash Temple’ of India? / HRd BT GER CEIRICA] Tfa AT

Hfer fra meT w182
1. Punjab / UoTTd
2. Uttar Pradesh / 3T} m

3. Andhra Pradesh / 3{T¢ CI%’QT

4. Maharashtra / HERTY

Correct Answer :-

e Maharashtra / IIE'R'Ig

7) Which Indian State has been declared as the first ‘Digital State’ of India? / HRd cg Wu&maﬁum feforea
TR & U A D foar war @2

1. Goa / T
2. Karnataka / ®lcdh
3. Kerala /

4, Maharashtra / IlE'RTE
)



« Kerala/ Bd

8) Which of the districts of Malwa region is known for slate pencil factories? / HISIdl P PIF-T1 fora wie tRa

SREH! & fog TRiE 82
1. Jhabhua / LTg3AT

2. Indore / 3@?

3. Mandsaur / HGOR

4. Barwani / SRAH!

Correct Answer :-

« Mandsaur / HGOR

9) The planet nearest to the sun is / JIST BT T oIl U8 %:
1. Uranus / Q?T'm

2. None of the above / SIRIGd & I avﬁ's‘ :I_E?f

3. Mercury / 94 Ug

4. Pluto /Wjﬂ

Correct Answer :-

» Mercury / 94 Ug

10) The Ashok Chakra on the Indian National Flag has / YR ?Tffq 5!% & 3N I H fha=t W% ?
1. 12 spokes/ 12 diferar

2. 18 spokes / 18 <iferar

3. 24 spokes / 24 el

4,730 spokes / 30 <iiferdr

Correct Answer :-

» 24 spokes /24 diferar

11) The Ashok Chakra in the Indian National Flag is in which colour? / HIRW XTSI 9IS BT 3RMP Teh for 1

HIGATS ?
1. India Green / lﬂ??‘ﬂ'qET[
2. Dark Brown / ITeXT 4T

3. Navy Blue RG]
(4)



Correct Answer :-
e Navy Blue /7TgX e

12) If WATCH is coded XCWGM, then how is DELHI coded? / & WATCH &Y XCWGM A SIS far Smar g, at
DELHI &1 &4 ®ifsd far s

1. FGNLN
2. EGOLN
3. EGPLN

4. FGOLN

Correct Answer :-
« EGOLN

13) Who has been awarded the Sangeet Natak Akademi Puraskar for the year 2016? / ad 2016 %ﬁrq R IGG I

SPTGH PR 54 fear g2
1. Mallika Sarabhai / FHfetiesT SRTHTS
2. Satyabrata Rout / JIdd I3

3. BirjuMaharaj / WW

4. Leila Seth / el 43

Correct Answer :-

 Satyabrata Rout / IAdd [3d

14) If MATHS is coded LZSGR, then how is GEOGRAPHY coded? / G MATHS B LZSGR A BifSd far Sirar g, o
GEOGRAPHY ] &d ®ifed foodn SIRIM?

1. FDNFQZOGX
2. FDPFQZOGX
3. FDNFSZOGX

4. FDNFQZOGX

Correct Answer :-

e FDNFQZOGX

15) If nib laf bal means elephants are mammals and laf nav nib means elephants are out, the code for which word
cannot be inferred with certainty? / e nib laf bal T ardf elephants are mammals 3R laf nav nib T 3 f elephants are out

2, 9 B A g & fore e FAif¥adar & srgw 18 avmar s el
(5)



2. Out

3. Mammals

4. None of the above / SwiFTd @ 5’?5;7?7

Correct Answer :-

o Elephants

16) ‘Santosh trophy’ is associated with / Ty ﬁ[ﬁ' m et %:
1. Hockey / Rl

2. Football / eald

3. Weight-lifting / YRIKIIerH

4. Wrestling @Q?ﬂ

Correct Answer :-

« Football / did

17) Who was named the Vice Presidential candidate of the National Democratic Alliance (NDA) in 2017? / 2017 |

P SIS T4 (TIS1T) & SWIPUTT & SHiGdR & = # 6 =nfera fosar mar
1. Venkaiah Naidu / 43T 1Ig

2. Sushma Swaraj / UHT ¥R

3. C VidyasagarRao / It fograrR 19

4. Gopalkrishna Gandhi / WEUT el

Correct Answer :-

« Venkaiah Naidu / 339 ARIg

18) In a certain code language, Love is blind means 347, Help blind men means 756, Love is sweet means 439. Which is
the word for sweet in that code language?/ Udh AT HIS HTT ﬁ, Love is blind &1 31 34 7, Help blind men 1 aref 756,
Love is sweet BT Y 439 BT 81 T BIS U H sweer B {10 fhd W8 o1 swTer fooam Tm 82

1.3
2.7
3.9

4.4

Correct Answer :-

-9

(6)



19) In a fair dice thrown, what is the probability of getting a multiple ot 277 / I1%& UIRHI Wb UR, 2 &b Ul S D]

T UIRdr 82

1
1. 3

N
o[

.‘\Jlb—i

»
o=

Correct Answer :-

h.Jll—-

20) The President of the Constituent Assembly was elected in / EIJHUTT TYT & 3IeEf HTTI B BT YT?
1. July, 1950 / S[ETE 1950

2. December, 1946 / fa=IeR 1946

3. December, 1948 / fa&eR 1948

4. November, 1949 / TdeR 1949

Correct Answer :-

« December, 1946 / TGHaR 1946

21) does not share its border with Madhya Pradesh. / T USRI & H1Y ST T AT
T FRar g

1. Gujarat / JsIXTd
2. Rajasthan / XISTRITT

3. Bihar / [98R
4. Maharashtra / HERTY

Correct Answer :-

« Bihar/f98R
22) , is the first member of the Jain community to be appointed to the National Commission for
Minorities. / ACTHEID| P foTQ AP TN & I TG & TUH I & |

1. Sunil Singhi / griter g
2. Simran Jain / ﬁF:RT'T S



4. Thawarchand Gehlot / Wﬁm

Correct Answer :-

« Sunil Singhi / te el

23) The Vidhan Bhavan in Bhopal was designed by ./ MiuTe Ry faem= vaq &1 F Ui
ERT T Tar 4Tl

1. B 'V Doshi / & gt qItt
2. Raj Rewal / NEECT]

3. Le Corbusier / @ DRIRTAR
4. Charles Correa/ ITe BT

Correct Answer :-

« Charles Correa/ TTH DIRAT

24) Find the odd one out: / T fAuH J1d HIfom:
1. coffee / PTHI

2. rice / dIdA

3. tea/dMY
4. cashew / IS

Correct Answer :-

e rice /A

25) Find the odd one out: / T faud Jrd HIfTT:
1. 1321

2. 343

3.27

4. 125

Correct Answer :-

o 1321

26) Who drafted Article 370, which gives a special status to Jammu and Kashmir in the Indian constitution? /T

3T 370 BT T I, R 7 o9 vd S1=eiik o1 uRel wfaem o famiy =i wie gen &2
1. Sardar Vallabhai Patel / OXqR Wmﬂé ucd
- (8)



3. BR Ambedkar / S13(R TS SHT

4. Gopalaswami Ayyangar / TUTeRa] SRR

Correct Answer :-

» Gopalaswami Ayyangar / TUTERATH SRR

27) Bateswar group of temples is located in J iR &1 EI%%R aqg A R %I

1. Morena/ H%Z_'IT
2. Ujjain/ I
3. Khajuraho/ @\_Ylﬂlé

4. Ratlam/ XddH

Correct Answer :-

+ Morena/ Hi_'ﬂ

28) Name the first women Governor of an Indian State. / HIRGId USRI B Ugeil AZET IrsUTe T A9 9a15¢1
1. Lakshmi N. Menon / @& T, A9

2. Sucheta Kriplani / @?ﬂ Q?“W‘I'Fﬁ

3. Padmaja Naidu / UsIoIT F1Ug

4. Sarojini Naidu / TRISH! IS

Correct Answer :-

« Sarojini Naidu / GRIG ARG

29) The district in Madhya Pradesh ,whose name means “Place of Peacock”./ HY ';I%'-‘IT P 9t forer foraed s &1
e AR BT RIF" B:

1. Morena/ Eﬁ_'ﬂ

2. Dhar/ YR
3. Rewa/ a1

4. Ratlam/ Xdd¥H

Correct Answer :-

» Morena/ @_'ﬂ

30) Complete the series choosing the missing number: / &l BRG] AN 8[‘@?” C| T ?ﬁﬁﬂ!:

©)



1.51
2.41
3.71

4. 60

Correct Answer :-

e 51

31) Complete the series choosing the missing number: / &I T AP Y@l Eal T PioIE:
165, 195, 255,285,345, _

1.375

2.435

3.390

4. 420

Correct Answer :-

e 375

32) Complete the series choosing the missing number: /'@W“@TW maﬁwﬁﬁq
5,17,37,65,

1.97

2.99

3. 101

4.95

Correct Answer :-

33) Which number would be in the hundreds place of the difference between 'Five thousand two hundred and six' and

1023? / “UTd TR SR &1 T B8’ iR 1023 F 3R & i AW WM AHST I W gHI?
1.1
2.5
3.8

4.3

Correct Answer :-
(10)



34) The series given below contains a sequence of numbers. Identify the incorrect combination: EiEkil Tl'&: WFIT fl',

T3 FT UH U IURI & | TTeTd HaIoi Ugai-g
5, 6, 10, 15, 25, 40

1. 40

2. 10

3.15

4.25

Correct Answer :-

35) The series given below contains a sequence of numbers. Identify the incorrect combination: IEiE] ?ﬁ"'l'st ﬂ@?ﬂ ﬁ,

T3 1 TH U IURU & | TTerd HaIoi UgaI-g:
1236, 2346, 3456, 4566, 5686

1. 4566

2. 1236

3. 5686

4. 3456

Correct Answer :-
e 5686

36) If DOCUMENT is coded EPDVNFOU, then how is FIGHDST coded? / G DOCUMENT &Y EPDVNFOU ¥ Hif&d
forar ST 8, O FIGHDST 31 4 Sifsd forar smam?

1. GJIHETU
2. GJHIETU
3. GJHIETV

4. GHJIETU

Correct Answer :-

 GJHIETU

37) Select the option that is true about the Statements and Conclusions given:
Statements:

Some rhododendrons are strawberries

All strawberries are raspberries

(11)



LV R I R LV I T}

I. Some rhododendrons are raspberries
II. Some strawberries are rhododendrons

/ 33 faweu &1 999 S S o e sy oiv freput & ok & Odl 8:
DHY:

T " TR §

Ao

I $O ASISs IS &

I 0 BRI SIS 8

1. both conclusions I and II follows / FISB 1 3R 11 EHI SRV R &

2. only conclusion I follows / Had f5HY 1 SFIERUN 6T §

3. only conclusion II follows / A &R 11 S{TIRT HT §

4, neither conclusion I nor conclusion II follows / 7-[“69[ fAspy 1 3R A 33[ sy 11 SR TG %

Correct Answer :-

« both conclusions I and II follows / F&HY 1 &R 11 g WW%

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some men are kids
Some men are not bald

Conclusions:
I. All bald are kids
II. All kids are men

/ 39 fawen &1 999 P SifF fou T w1 ik sl & 9 o Tdl 3:
DY

0 oF0 R T

PO [&U IS TE ¢

fArep:

L Toft vt gy &

I 9 Ry geu §

1. both conclusions I and I follows / &R 1 3R 11 G| ST W%

2. only conclusion I follows / aa FsmY 1 ST HIT g

3. only conclusion II follows / Had sy 11 STV Sl %

4. neither conclusion I nor conclusion II follows / T &1 fFtep 1 3R 7 € feep 11 SHTERT IRA 7

(12)



« neither conclusion I nor conclusion II follows / =1 &1 FhY I 3R =1 81 FhY 11 SERUI A &

39) Select the option that is true about the Statements and Conclusions given:

Statements:
No fruits are vegetables
Some knights are not vegetables

Conclusions:
I. Some knights are fruits
II. All fruits are knights

/ 33 faweu &1 994 Fifoe S o e sy 8ik et & o & Odl 8:
DHY:

1S el Giowai 181 &

5 AI3c Afowdi T8 8

Ao

I. $O 7IIEC B §

11. 9t e Tge §

1. both conclusions I and II follows / FISBT 1 3R 11 GHI SR Ha &

2. only conclusion I follows / acl FIsB I STHRY PRAT §

3. only conclusion II follows / Had Y 11 SRl ST &

4. neither conclusion I nor conclusion II follows /= &1 Fr 1 3R 71 g} feap 11 3R vl &

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / :{ébf Bl GﬁT Gl éT ey 11 SHTERTT A %

40) Select the option that is true about the Statements and Conclusions given:

Statements:
No insects are rats
Some rats are buffaloes

Conclusions:
I. Some buffaloes are insects
I1. Some buffaloes are not insects

/ 39 ey &1 99 PR Sl T 7T Hu=T 3iR Fresut & ok & wet &
BY:

PIS BIE o1 716l

FOT AT

(13)



L WY N1 WiIC ©
IL. 59 Yo e T8 &

1. both conclusions I and II follows / ey 1 3%? 1I EfF‘ﬁ SITERUT A %‘

2. only conclusion I follows / %aq FspY 1 STERUT Hdl g

3. only conclusion II follows / ad frsme 11 SR

4. neither conclusion I nor conclusion II follows / T &1 e 1 &R 7 81 feenf 11 S{TIRT FRAG

Correct Answer :-

« only conclusion II follows / Fad SHY 11 STERTT

Topic:- Mental Ability and Mental Aptitude

1) If the following two squares shown below overlap, which one of the following options is formed? / Afe

et & ot Ffgcaitg @ & e F ¥ &l9 91w fadeq aadT &

-/!_b-\_
1

T
T
1.
==
2.
O
<l
3.
& O
<>
4,

Correct Answer :-

(14)



2) In the sequence shown below, which figure comes next? /7=l G4 I B #, il MBI Hidd |I

HREIR

o) 1 )
L X 1)
o880

OO
oo
SOG

Qe
eCe
o0@

9 1w
e0e
Oee

&
_@®
@

g

Correct Answer :-

(&Y 18]
L Jel
o] 1e

3 3 2
) Aropewas cut into 3 pieces of length 3 T m, 4— mand 2 m. What fraction [s the first and the second
5

-~ =

1.2/5

2.3/5

w

-

part together of the whole? /Udn T &l 337 H ci 4
2
ICT 9T oT| 90T & e T Ugel 1T gy o7 &1 foieey o= g

(15)

F) o < L -
i?ﬁ‘aaﬂT 2 HigT oFalS & 3 Thsl &



4.5/4

Correct Answer :-

. 4/5

5) The present age of Karan is four years more than four times the age of Khusboo. Five years hence, Karan will be
12 years more than 3 times the age of Khusboo. Find thepresent age of Karan. / HR Pt gdH= 3y, Wﬁ 3
F IR T A TR 99 3w § 1 Ui a9 UYTd, B, GG B! 3R & 3 T4 A 12 9 SfRF 11 1 B qedar=
TG T B |

1. 46 years/46a'5f
2. 16 years / 16 T8

3. 36 years / 36 GL
— (16)



Correct Answer :-
o 76 years/ 76 1

6) The average of three consecutive numbers is 9. If 3 is added to each of the three numbers then find the new

average after the addition./?ﬁqmmaﬁWGﬁﬂ?{Q%l H%?ﬁﬁmaﬁﬁmﬁsﬁﬁam%?ﬁu’m
& UYTd AT 3 Td B 1 B

1. 10
2.6
3.9

4. 12

Correct Answer :-

7) Ajith has three friends: Kapil, Mohit and Lalit. When Ajith wanted a certain amount of money, he took the help of his
three friends and borrowed Rs. 5,000 from them. In the coming month, if Ajith plans to return Lalith'sentire amount of
Rs. 1,500; but can return only Rs. 750 and Rs. 450 to Mohit and Kapil, respectively; then, what is the amount he must give

Mohit and Kapil in order to clear their debts completely? / aﬁﬁa%?ﬁqaﬁwé EFRIH, 'Fm%?f 3R aferd | o9 3rsfid
! fif3a i wfge A, @ SR i SRl 3 Terar ot 3R 399 5,000 T IUR R 1 39 et 7 H, afg
3Sild B TSHT aferd &1 1,500 TUY BT HYOL AR die™ D1 7; AT 9 Aifed i Fe B v Had 750
av_flnﬁ@afln?%owmmm%;ﬁ%ﬁﬁﬁaﬂﬁ@mﬁwﬁ%ﬁq@wm

1. Rs. 2,500 / 2,500 ST
2. Rs. 2,300 / 2,300 ST
3. Rs. 2,400 / 2,400 ST

4. Rs. 2,100 / 2,100 3T

Correct Answer :-

« Rs. 2,300/ 2,300 30

8) 25 times the square of 125 is the same as the: / 125 & T BT 25 AT IGi=kg QTFI'H%:
1. 5 times the square of 125 / 125 ST BI5 RIGII

2. 125 times the square of 125 / 125 & &¥f T 125 THT

3. square of 625/ 625 BT

4, None of the above/mﬁ@aﬁgqﬁ

Correct Answer :-

e square of 625/ 625 ko
(17)



9) In a certain place in Mumbai, there are 900 families. A survey indicated that 400 people used Nokia mobile phones;
200 people used Reliance mobile phones; and 80 people used both Nokia and Reliance. Find the number of families
which neither used Nokia nor Reliance. /Hﬂg’ﬁ TP ﬁ'f%lﬁ@ﬂqﬁ, 900 tlﬁ?l?%l W'\‘ﬁ&‘l’ﬂ% 3YNR, 400 AT
Afpar AaTsa BN SUTRT Hd §; 200 T AT WETSd BIF TGN F3d ©; 3R 80 AT Afar iR Raraw
S BT IUART B3 ¢ | 39 URAR] B T 71 B3 it 7 af b i 7 g Rarda Suain adt 21

1. 340
2. 300
3. 360

4. 380

Correct Answer :-

e 380

10) At what compound interest rate would an amount increase by 96% in two years? /3.1 aul # WW@W @

TR AT H 96% B gfx ghfte
1. 40%
2. 48%
3. 50%

4. 33%

Correct Answer :-
o 40%

11) Two years ago, a father was 5 times his son's age. Five years hence, the father's age will be thrice his son's age. What
is the present age of the father? / Gl ¥ UG, TW fUdT 30+ T St 3TY 1 5 AT AT Ui a9 gyTd, foran ot omg
1P T B 3G BT oI AT gRIT | T &) aefar omg @ g2

1. 37 years / 37 G
2. 42 years [ 42 arsf
3. 40 years / 40 ay

4. 35 years / 35 Gl

Correct Answer :-

e 37 vyears/37 ay

12) The length of a rectangle is increased by 40%. By what amount of percentage the width have to be decreased to

maintain the same area? / U® 3(TUd P THTS 40% dP TT &F STl & 1 THIT TP g9T¢ WA & g, Aers &1
e ufe=ma gemr g

1.28.5%
(18)



3.40.5%

4.36.5%

Correct Answer :-

e 28.5%

13) A, B and C can do a piece of work in 7 days, 14 days and 28 days respectively. If they work together, the work will be

finished in ./ A, B 3 c TP BT &) M 7 &, 14 AN 3 28 f) & o= v €1 I 3 vas |1y 1
FATA PR A & T g wmem

1.2days/2ﬁ:ﬁ
2.4days/4ﬁ7ﬁ
3.5days/5ﬁ:ﬁ
4.3days/3ﬁ:ﬁ

Correct Answer :-

. 4days/4ﬁ:ﬁ

14) In an examination, the maximum marks are 900. A student gets 33 % of the maximum marks but fails by 45 marks.
What is the passing mark? / T TR1&IT &, SIfIwaw 3 900 & | T faenff srftrwaw siw &1 33% Wit wva1 @
AT 45 Sipl A Srghiof g) wimen 71 ol s T 82

1. 342
2.350
3. 360

4. 380

Correct Answer :-
o 342

15) Which one of the following four addresses is NOT EXACTLY same as the one given below? / e
T IR Tl & 9 = 5l & ua & St U S A e T8 82

Dr. Heinz
Hofstr. 16,

Bad Bellingen Baden, 79415

(i) Dr. Heinz

(19)



Bad Bellingen Baden, 79415

(ii) Dr. Heinz
Hofstr. 16,

Bad Bellingen Baden, 79415

(iii) Dr. Heinz
Hofstr. 16,

Bed Bellingen Baden, 79415

(iv) Dr. Heinz

Hofstr. 16,

Bad Bellingen Baden, 79415
1.iv

2.1

3.1

4. 1il

Correct Answer :-

16) The average age of two persons is 32 years. One is elder by the other by 16 years. The ages of the

two persons are: / 4 Jfaadl @1 3fid Mg 32 99 81 Ugal, GO 9 16 99 987131 a1 aufaadl @1 3y §:
1. 20 years, 36 years / 20 atf, 36 atf
2. 32 years, 32 years / 32 @Y, 32 AN
3. 24 years, 40 years / 24 atf, 40 TY

4. 34 years, 50 years / 34 a'Ef, 50 El'Ef

Correct Answer :-
e 24 years, 40 years / 24 ?ﬂsf 40 arsf

17) Find the approx distance travelled by a wheel of diameter 14 inches in 25 revolutions. / 14 39 &1
& Ufed GIRT 25 URSHHUT § T DI TS T g1 1 DR

1. 1,100 inches / 1,100 9

(20)



3. 1,300 inches / 1,300 54

4.1000 inches / 1000 $9

Correct Answer :-

e 1,100 inches / 1,100 9

18) Simi and Nimi are sisters. When Simi was 10 years, Nimi was double her age. At present, if the

average of their ages is 25, find Nimi's age. /ﬁl‘lﬁsﬁ‘\’ﬁ'lﬂa?ﬁ%'l w9 Rt 10 af &Y ?ﬁ,?ﬁﬁ'ﬁﬁwﬁéﬂg
A g <t actare ®, afe S99t sy @1 it 25 § @ Al 3t omg wma B

1. 45
2.40
3.30

4. 60

Correct Answer :-

19) A grocer buys 600 eggs at 75 paise each; of which 50 eggs were found to be broken. At what rate
should he sell the remaining eggs so as to gain 10 %? / T& TARI 7 600 3/, 75 T 7 & a9
WG| T T 50 343 ge UE MY fF o% IR I W SiST Bl 99T ALY o & a1y 10% g2

1.Rs.2/2 %0
2. 90 paise / 90 TH

3. 80 paise / 80 TH
4.Rs.1/130

Correct Answer :-
« 90 paise /90 T

20) A bag contains Rs. 210 in the form of one-rupee coins, 50 Paise coins and 25 Paise coins in the ratio
3: 5 : 6. The number of 25 Paise coins in the bag is: / T® 3d H 210 37 § o {& v Tud & e, 50 T
FRIGH MR 25T F TP F3:5: 6 F AJud & g1 AA | 25 T & Ryl ot wEw 8:

1.30
2.90
3. 150

4. 180

Correct Answer :-

(21)



21) A can do a piece of work in 30 days. He works at it for 20 days but leaves the task incomplete. B
takes over and completes it in 12 days. If A and B had worked together, how many days would it have
taken them to complete the work? / A &3 & & 30 fa=f # H= Tpdr 21 98 59 W 20 a7 & Far
AP BT P AR BIS AT 21 B 3T BTY B Heal ¢ 3R 12 34 & 12 a1 81 9fe A 3R B S T 1y B
A ¢, 1 3 BT B W P P ¢ fpaq T A

4 4
16 — days/ 16 — f&a
) 11 11

7 7
16 —days /16— fea
11 ° 11

1 1
16 —days /16— T&a
5 11 ° 11

10 10
l6 —dayvs/ /16—
11 ’ 11 It
4,

Correct Answer :-

4 4
16 — days/ 16 —
11~ 11 e

22) Three different containers contain 52 /, 72 /, and 24 /of milk respectively. What biggest measure can
be used to measure all the containers exactly? / =1 fafirs ur o= 52 ey, 72 e 3k 24 dex gy
@A €1 DI 91 ga o7 U1 I U Y T8t @ 9 & fore uged 81 awdn 82

1.21/2d@R
2.41/ 4R
3.6//6TC
4.121/12 IR

Correct Answer :-

. 41/4TR

23) Ratio between Rahul and Deepak is 4:3, After 6 Years Rahul age will be 26 years. What is Deepak
present age? / Igd 3R SIS & ST BT 3UTd 4:3 &1 6 I UL I DI MY 26 T9 gt | GUF BT T

3TY FT 82
1. 14
2.20

(22)



4.22

Correct Answer :-
e 15

24) A trader buys 25 oranges at 8 per rupee and another lot of 25 oranges at 12 per rupee. He mixes
both the varieties, and sells them at 10 per rupee. What will be the percentage profit or loss he
suffers? / TP ATURY 9 8 TUT Ufa & 319 T 25 T TS 3T 25 TRl &7 379 THE 12 TUT Ufd & R @
gj}al I 1 TP R Pt e faar ok 3% 10 FuT ufe & e & o= fean 39 fram wfoxe ety ar sy

?

1. None of the above / IRl ﬁﬁﬁgﬁ
2. 4% profit / 4% oTH
3. 4% loss / 4% ®IF

4. 5% profit / 5% dIH

Correct Answer :-

e None of the above/maﬁﬁ@aﬁ'&;:lﬁ

25) A man traveled a distance of 61 km in 9 hr. He traveled partly on bicycle at 9 kmph and on foot at 4
kmph. The distance traveled on bicycle is / T® J&4 9 G¢ H 61 fH &t amm &t 81 39 SHifkre ®ud 9
i ufa de1 ™ wsfora § ok 4 5l ufd deT R Goa g &t IsfPa R aa A 1§ g

1. 50 km / 50 foout
2.25 km / 25 foeil
3.45 km / 45 Tl
4,16 km / 16 ol

Correct Answer :-

« 45km /45 foat

26) The present ages of Palani and Karthi are in the ratio of 5 : 4, respectively. Three years hence, the
ratio of their ages will become 11 : 9, respectively. What is Karthi's present age? / oY 3R BIfd Bt
AT 3T R 5 : 4 F JUTd A 81 191 78 UYTa S Mg BT JuTd HHRN: 11 : 9 B SN Fifd FI qad=
3T FT 82

1. 21 years / 21 LY
2. 26 years [ 26 ay
3.30 years /30 d¥

4. 24 years [ 24 ay

Correct Answer :-
(23)



27) A car starts from Point A towards Point B at a speed which is 50 % higher than that of a two-
wheeler. The two-wheeler is 120 km ahead of the car and is also moving towards Point B. If both the
vehicles reach Point B at the same time, what is the distance between Points A and B? / T R ®RId A J
YT B P 3R Ferell & 3R IqH! ia aF ufgar arg &t i & 50 wfa=ra it 81 &Y ufgan arg- &R 9 120 B
am‘r%ag?wwﬁah?mm%l gfe Gl aTe WIT B TR A 9HY H Ugad ¢ dl TUd A 3R TIA B & 94 $t
T ATE?

1. 360 km / 360 fareit
2. 420 km / 420 Tp et
3. 240 km / 240 THt

4, 200 km / 200 fH

Correct Answer :-
« 360 km /360 fpHT

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: Eic] ﬁ Tlg

e §, &Ry MR sl &1 v vy fHfed € | e aie ugeEne:

i.yooii01011iiyoo
ii.yooii0101liiiyoo
iii.yooii01011iiyoo
iv.yooii01011iiyoo
1.iv

2.1

3.1

4. iii

Correct Answer :-

e il

29) Find the average. / 3 fAerfed |
79, 89,99,9,19 & 29

1. 56

2. 54

3.58

4.52
(24)



. 54

30) 56% of 75 + 10% of 150 = ?
1.75
2.63
3.57

4. 52

Correct Answer :-

e 57

Topic:- Science and Simple Arithmetic

1)
If the side of the square is 21 cm, then the circumference of the circle = . ATE @ FT o 21 G

A gafrafifa=_ .

7
\_/

1. 528 cm / 528 9H.

2. 1386 cm / 1386 THT.
3. 264 cm / 264 I,

4, 132 cm /132 3L,

Correct Answer :-

o 132 cm/132 T,

2)
If the diagonal of a cube is 6y3cm, then the edge of the cube is: / aAfE o= & fGFH0T 6v3 TAT &, OF o= &r

HY faFT g
1.2 cm/2 9
2.6cm/6HI
3. 12 cm/ 12 9T

(25)



Correct Answer :-

e 6cm/6IH

In the given figure, AB || CD, £AEF = 63°, £PQF =40°, then the measure of £ZEPQ=__ . /
few orw @ #, AB || CD, £AEF =65°, £/PQF =40°, ar £EPQ & AT =

v:»A "E B
."'I"P ‘l.""-..
c /F N D
4 Q
c
1. 65
o
2. 40
3.120°
[
4.105

Correct Answer :-

4) PQRS is a trapezium in which SP | RQ, £S = 90° and 2Q = 130° The measures of 2P
and <R are ___ and , respectively. / PORS T THeld Iisl & 1o SP | RQ, 48 =
90° HIY £Q = 130°% £P TUT«R & HIT & AR g

o
1. 90°, 60
c
2.90°, 130
3.90°,50
C
4.50°, 90

Correct Answer :-



ar # &7 AT @Fa grem:

1.(x-3)
2.(x+3)
3.(x+6)
4.(x-6)

Correct Answer :-

6)
(1.1 -3%( 1.1 ¥x0.1+3x1.1%(0.1)¥=

1.-1
2.0.1
3.0.01

4.1

Correct Answer :-

o 1
7 } -
) I£335241 =9 x 37249 and /37249 = 193, then /335241 = 1 TR 335241 =9 x 37249
=T /37249 =193, 335241 = .
1.579
2. 537
3. 1737
4.193

Correct Answer :-

* 579

8) After getting two successive discounts, a shirt with a list price of Rs. 150 is available at Rs. 105. If the
second discount is 12.5%, then how much is the first discount? / a‘rm@:’mmﬁ FTIG, 150 T &
3ifrd Yo arelt TE 105 0T F IUTH B 1 TS g e 12.5% &t ft, o ugelt ge farart e

1. 20%

2.15%

(27)



4. 10%

Correct Answer :-

o 20%

9) If 25% of a number is 20, what is 40% of that number? / U TBAT BT 25% TS 20 B, A SHPT 40% forar

g
1.32
2.24
3.28

4. 30

Correct Answer :-

e« 32

10) A has Rs. 90 and B has Rs. 42. After B has won a certain sum from A, A has five-sixth of what B has.
How much does B win? / A $ UTH 90 U3 & 3R B UM 42 30T 2| B ERT A A Tob (HIf3a ¢=R1f3T sitd o1 & 97,
AP URT B &15/67 URT ST 81 B 7 fa-it 4= Siie?

1. Rs. 20/20 30
2. Rs. 30/30 300
3. Rs. 24 /2430

4. Rs. 32/32 30

Correct Answer :-
« Rs.30/30300

11) If the cube root of 1728 = 12, then the cube root of 0.001728 =__./Jf¢ 1728 &1 ¥-1qa = 12, 1 0.001728
PITTHA = .

1.0.012
2.0.0012
3.12
4.0.12

Correct Answer :-

« 0.12



BYY ] YARTIRI LU0 dIT¥D Ysb gl SISl el GR UR T+ SdI¥ H 24,200 24y g1 Sl
1. 3 years/3 Gl

2.2 years/ 2§

3. 1year/1 CL

4. 1.5years/ 1.5 CL

Correct Answer :-

. 2years/25|'5f

13) The expenditure on different items for constructing a flat in a metro city is given in the pie chart below.
Which of the two expenses will have a difference of central angle 36° ? /@ﬁﬁﬁﬁ@ﬁ?%ﬁﬂfﬂ%
fore faft=r i wR 89 are o 1 e s e o foam wan 81 fopa 3 o # 36° & iy Yur o1 3R 82

Expenditure/ I

m
B Brcks /8T

255
cement/
208 - JJ
© labeud MW /
50% /,"
S T

1. Bricks and Steel /3¢ Td &d
2. Labour and Cement / % Td HtHc
3. Labour and Bricks / 7 Td 3¢

4. Cement and Steel / T¥e Td &a

Correct Answer :-

« Bricks and Steel /5‘?@@3

14) Which of the following structure is present in the nucleus? / fFrafefea g # QB9 A1 # SufRua Eﬁ?ﬁ
L]

1. Mitochondria / e 0TehT
2. Chromosome / IJUIRA

3. Centriole / TRbBG
4. Ribosome /?EEI"I@III

Correct Answer :-

(29)



15) Which is the correct sequence of steps involved in the crystallisation of a pure compound from its impure

sample? / 3I[H THA | T IR & fopeea # Fafif@d & & =il 1 $I9 91 81 Siaf-ied siar 82
1. Filtration, Evaporation, Dissolution, Cooling / ﬁw, qreq-, ﬁ?ﬁ:{, PIRNE]

2. Dissolution, Evaporation, Cooling, Filtration / Ira‘dd"l, CINSCR -‘QTICICH, lr'\'Nq.Cv'I

3. Evaporation, Filtration, Cooling, Dissolution / dT®-, ﬁa_iqq, Qﬂdcﬁ, faere

4. Evaporation, Dissolution, Cooling, Filtration / dI™+, ]%’EIET'T, T\’ﬁaﬂ:{, e

Correct Answer :-

« Dissolution, Evaporation, Cooling, Filtration / IGUC"I, dri-, Qi\ldcﬁ, lr'\'Nq'Q"l

16) If 120 oscillations are produced in 6 seconds, the frequency will be: /°f¢ 6 AHS H 120 ?:'\?F'T W@% %', o

ma‘ﬂ':

1. 20 Hz /20 ¢S
2.0.05 Hz/0.05 B&ST
3. 120 Hz /120 ol

4.720 Hz /720 B

Correct Answer :-

« 20 Hz/20 8o

17) Oxygen atom has six valence electrons, but its valency is only 2. This is justified because: / SRS mﬁ

BT YIS SATE 3, TR STD! WDl pad 2 g1 T8 Sfua 8 ®if:

1. It can gain six electrons and complete its octet to be stable. / dg D% sadgTﬂ YTt hX Hehdl % JUTRR Q_Eﬁ & ﬁﬂl 304
3¥e I YUl HRaT B

2. It can gain two electrons and complete its octet to be stable. / dg a 3@3?:]17{ Ut h Hehdl % U RR ?Eef > ﬁ'q 30
35S I JUf Bl 6|

3. It can lose six electrons and combine with other elements to form compounds. / dg 9% $C1d§T-1 Tl gHdl %’ AT AT dd

P 1Y Yo IR AN b1 AT Hrar ]

4. It can lose two electrons and combine with other elements to form compounds. / d% al sclqud T gl % aqYT Y dd

& T YA IR ARG 1 i Far g

Correct Answer :-

« It can gain two electrons and complete its octet to be stable. / dg Eﬁ 3@3@77[ It b Hehdl % U RR Wef & ﬁfq 3T
39 ! guf BT B

18) Fruits and flowers are coloured due to the presence of: / el amwﬁmwﬁﬂaﬂw@ﬁ% BRI élal %:

(30)



2. Chromoplast / CUREED
3. Chloroplast / gRada®s
4. Chlorophyll / gofgRa

Correct Answer :-

o Chromoplast / CUNECED

19) The device which easily closes or opens an electric circuit is ./dg %Tﬂ%'\‘l' S ﬁrgq?r Uiy &Y ST
& WY 9 FRA 3 AT Fewdl B, g

1. electric cell / fagad ¥
2. electric switch / fagaa =
3. electric bulb / [dGad Tedf

4. electric fuse / TaGTd WSl

Correct Answer :-

« electric switch / fagad =

20) The kind of 'filler' connective tissue that binds skin to muscles and holds organs in place is: / Yeh UPIR BT ‘YRh’

TSl SHa® S @91 B 01T AR I SHedr § SR SR & gyTad T WR Gdl 8, e wgarn
1. Areolar / TR

2. Adipose tissue / THIT Hadh

3. Tendon / ST

4. Ligament / ¥1g

Correct Answer :-

e Areolar/ Qﬁ'\mﬂ?

21) The level of mercury rises when its bulb comes in contact with a hot object because: / URq WWW%W

ST Tod TH g & JUS H 3TaT § TSP -

1. Of radiation / fafdsRUT & HRUT|

2. It shrinks when heated / TRS TRH 811 R I gar |
3. Of convection / HJg- o HRUI|

4. Tt expands when heated / TRE TRA 811 W fIwRa giar g1

Correct Answer :-

» It expands when heated / URQ Waﬁmﬁwaﬁl%l



£2) ‘I'ne middle layer of the earth is called ./ Y<dI @] HXMAc URCl IH+1___ PECIdl §1
1. crust/ E‘Tﬁﬂ

2. mantle / UTdR

3. cladding / GRIAETE

4. core / IS

Correct Answer :-

e mantle / UIAR

23) The number of colors present in white light are: / 24d UHT H SUFRIT TN 31 =T ﬁ?ﬁ %:
1. Seven / HId

2. Five / UTd

3. Six /9

4. One / TH

Correct Answer :-

e Seven/9ld

24) The cell organelle which is found only in plant cells is: | BIRABT TP S Had LI HIfApT | YT STt %

1. Golgi apparatus /7 Teoll STHRUT

2. Mitochondria / 10T

3. Plastids / /b

4. Ribosome /m

Correct Answer :-

e Plastids / dddh

25) The side of a square is 2 cm. If semicircles are constructed on two sides of the square, then the area of the whole

figure is: / T BT Yoir 2 A, 31 Afg ot A S Yormei wR srgige smar o, o qui Sy &7 8w = ghm:

(4 + 27 ) em?
1.

(4 +4m ) cm?
2.

3 (4 +m)cm?

5
4 9 cm”
4.

(32)



4+ 27 ) em?

26) Farmers water their fields at night in cold winter because: / THa & 49| A fFam o § oa @dal o
T STed € Fife:

1. Due to low specific heat, allow the water in capillaries to freeze. /WWW%W, W@rﬁwﬁwzﬁ
STl

2. It protects the plants from frost. / dg ‘ff@fﬁm@m%l

3. Rate of evaporation increases at night. /sﬂ%ﬂaﬁ?ﬂmwa?aaw%l

4. Plants absorb water faster at night. /tﬁaﬂﬁﬁqﬁﬁaﬁﬁ@f &ﬁ?ﬂﬁﬁﬁﬁ%l

Correct Answer :-

e It protects the plants from frost. / dg ﬁ%ﬁﬁﬁqﬁﬁ EEI'IT‘IT%'I

27) are a gallinaceous domesticated fowl, bred and raised specifically for meat
production. / TS eHape-aad uraqg uelt, 7%a g it fafke ¥u 3 uig Iwrea & g uret
STt 21

1, Broilers/?ﬁ%ﬂ?

2. Ducks / ddd

3. Turkey/a?aq&ﬁ(ﬁﬁ
4. Rhode Island / IS aﬂsﬁ@:

Correct Answer :-

. Broilers/@ﬁ%ﬂ?

28) The practice of growing plants in mineral nutrient solutions in water without soil is called ./

el F o ora & @ Tiue e faeas § ©9 ST o1 enar FoArar gl
1. tissue culture/W‘v‘iﬂ‘iﬁ

2. aeroponics / Q@I’q\fﬁa\q

3. hydroponics / SI¢l TaeH

4. roof top gardening / ©d CIUEIEl

Correct Answer :-

» hydroponics / ST¢T Tae

29) {1-[1-(1-n)1T13¥?=

(33)



30) The vacuoles in a plant cell is a: / T& UIGU BT & Rk gel &

1. None of the above / G'C@Tﬁ 7y ﬁ’sc T8l

2. Lacks a membrane and contains insoluble excretory substances/ %Iﬁﬁ Ti%‘d _Eﬁ?ﬁ % Gﬁ? Eﬂf{ faeg BT\‘:IGﬁEIETQf @ﬁ %'I

3. Membrane bound organelle containing cell sap / HIRTHT ITTI ToTeat! AT HIRIDT 3HTTH

4. Membrane bound and contains storage carbohydrates and fats/ %Ic_vﬁ a1 Eﬂ?ﬂ % 3R sﬂ'ﬁ YR W@E, 3R g1
gld €|

Correct Answer :-

« Membrane bound organelle containing cell sap / TR ITYeRT [Tt ST PIRIBT 3TH

(34)



